d2o

d?o

pr(ty) Ty 6] pr(ty) T (6 )y
[GeV] [fb GeV ~1] [GeV] [fb GeV ~1]
0 < [y(t)] <05
040 1219+ 1.1 £6.8 240-280 53.8+ 0.7 £3.0
40-80 284+ 2 +16 280-330 296+ 05 +£19
80-120 298+ 2 +17 330-380 159+ 03 +£1.0
120-160 222+ 1 +£13 380-450 714 + 0.21 £ 0.58
160-200 1464 + 1.1 £8.0 450-800 1.12 + 0.04 +£0.11
200-240 8794+ 09 £5.1 —
0.5 < |y(ty)| <1
0—-40 103.1 £+ 1.0 7.2 240-280 431+ 06 £27
40-80 240+ 2 +13 280-330 246+ 04 +1.6
80-120 251+ 2 +14 330-380 12.90 += 0.30 £+ 0.93
120-160 187+ 1 +12 380—-450 6.06 = 0.19 +£0.49
160-200 1193+ 10 =71 450-800 0.789 + 0.035 £ 0.070
200-240 723+ 0.8 £4.7 —
1< ly(t)| <15
0-40 685+ 09 +£45 240-280 293+ 05 21
40-80 159.7 £ 1.3 £9.5 280-330 162+ 03 +£1.2
80-120 163+ 1 +10 330-380 8.06 = 0.23 £+ 0.67
120-160 1252+ 1.1 £8.2 380—450 3.50 &+ 0.14 £0.35
160-200 812+ 09 £5.6 450-800 0.507 £ 0.029 + 0.075
200-240 5054+ 0.6 £3.3 —
1.5 < |y(t,)] < 2.5
040 1474+ 03 +£1.3 240-280 6.80 &= 0.17 £ 0.66
40-80 328+ 04 £24 280-330 3.84 £ 0.12 £ 0.45
80-120 362+ 0.5 £28 330-380 1.87 £ 0.08 + 0.29
120-160 289+ 04 £2.6 380450 0.81 & 0.05 £0.15
160-200 18.7+ 03 £1.6 450-800 0.080 = 0.008 £ 0.021

200-240

11.26 £ 0.23 £+ 0.91



